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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DIx ]y x|y )| x|y
9 | 1 80 | -8 18 | 20 t
27 | 3 40 | 4 27 | 30
36 | 4 20 | -2 36 | 40 2
72 | 8 10 | -1 54 | 60
3.
4.
5.
H1x|y 9 | x| v 6) | x | v
6.
5| -4 -8 | -10 -10 | -70
-6 | -3 -7 -9 -9 | -63 .
7| -2 -6 | -8 -5 | -35 '
-8 -1 S| -7 -1 -7
8.
9.
10.
Nl x|y 8 | x| Y 9 | x| Y "
-10 | 20 -8 | -40 32 | -24 '
-5 | 10 -6 | -30 24 | -18 1
-4 | 8 -4 | -20 16 | -12 '
3| 6 -2 | -10 8 | -6
10 | x | v W x|y ) [ x|y
51| 30 9 | 3 1|5
6 | 36 16 | 4 2| 6
9 | 36 4 | 7 317
10 | 40 64 | 8 41 8
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DIx ]y x|y )| x|y
1. YES
9 1| 9.00 80 | -8 | -10.00 18 | 20 | 0.90
27 | 3 | 9.00 40 | -4 | -10.00 27 | 30 | 0.90 es
36 | 4 | 9.00 20 | -2 | -10.00 36 | 40 | 0.90 2 y
72 | 8 | 9.00 10 | -1 | -10.00 54 | 60 | 0.90
3. YES
4, no
5. no
H1x|y 9 | x| v 6 | x | v yes
6.
S5 -4 125 -8 | -10 | 1.25 -10 | -70 | 7.00
-6 | -3 | 200 -7 -9 | 129 -9 | -63 | 7.00
7. yes
-7 | -2 | 350 -6 | -8 | 1.33 -5 | -35| 7.00
-8 -1 800 -5 | -7 | 140 -1 -7 | 7.00
8. YES
9. YES
10. no
7 8 9
) x | vy ) | x| v ) | X | Y " no
-10 | 20 | -2.00 -8 | -40 | 0.20 32| -24 | -1.33
-5 | 10 | -2.00 -6 | -30 | 0.20 24 | -18 | -1.33 1 no
-4 8 | -2.00 -4 | -20 | 0.20 16 | -12 | -1.33 '
-3 6 | -2.00 -2 | -10 | 0.20 8 -6 | -1.33
10 | x | v W x|y ) [ x|y
5 | 30| 6.00 9 | 3| 300 1| 5| 500
6 | 36 | 6.00 16 | 4 | 4.00 2| 6 | 3.00
9 | 36 | 400 49 ( 7 | 7.00 3| 7| 233
10 | 40 | 4.00 64 | 8 | 8.00 4 | 8 | 200
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix| vy x|y | x| Y
8| 20 9 | 1 710 | -40 t
-6 | -15 10| 2 -8 | -32
4| -10 11| 3 6 | -24 2
2| -5 12 | 4 -2 -8
3.
4.
5.
HlIx|y S | x| v 6) | x| v
6.
10 | 16 -4 | -5 -9 | -13
35 | 56 -3 | -6 -8 | -12 .
40 | 64 2| -7 -7 | -11 '
45 | 72 -1 -8 -6 | -10 o
9.
10.
Nlx]|y 8 x|y x|y "
50 | -10 2 | -4 2|2 '
45 | -9 1] -3 51|65 1
25| -5 0] -2 717 '
5 -1 -1 -1 919
100 | x | v W x|y )| x | v
-8 | 16 27 | -9 25 | 5
-6 | 12 24 | -8 35 7
-4 8 15| -5 90 9
2| 4 3 |-1 100 | 10
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix| vy x|y | x| Y
1. YES
-8 | -20 | 0.40 9 1| 9.00 -10 | -40 | 4.00
-6 | -15 | 0.40 10| 2 | 5.00 -8 | -32 | 4.00 no
-4 | -10 | 0.40 11 | 3 | 3.67 -6 | -24 | 4.00 2
-2 -5 | 040 12 | 4 | 3.00 -2 -8 | 4.00
3. YES
4, y€Es
5. no
Hl x|y S [ x|y 6 [ x| v
6. no
10 | 16 | 1.60 4| -5 125 9| -13 | 144
35| 5 | 160 -3 | -6 200 -8 | -12 | 1.50
7. yes
40 | 64 | 1.60 -2 | -7 | 350 -7 | -11 | 1.57
45 | 72 | 1.60 -1 (-8 800 -6 | -10 | 1.67
8. no
9. YES
10. YES
7) 8) 9)
X Y Xl|lY X1Y 1 yes
50 | -10 | -5.00 2 | -4 -050 2| 2| 100
45 ( -9 | -5.00 1]|-3]|-033 5|15 ]| 100 no
12.
25| -5 | -5.00 0 |-2]| 000 71 7 | 100
5 -1 | -5.00 -1]-1( 100 919 | 100
100 | x | v W x|y )| x | v
-8 | 16 | -2.00 27 | -9 | -3.00 25 | 5| 500
-6 | 12 | -2.00 24 | -8 | -3.00 35 7 5.00
-4 8 | -2.00 15| -5 | -3.00 90 9 | 10.00
21 4 | -200 3 |-1]-300 100 | 10 | 10.00
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DIx ]y I x|y | x| v
71 4| 2 9| 12 t
14 | 2 5|3 -8 | -11
18 | 3 6| 4 7| -10 2
24 | 4 715 6| -9
3.
4.
5.
H1lx]|y 9 | x| v 6) | x | v
6.
2 4 3 2 -10 | 20
3 9 6 4 -3 6 .
5 25 21 | 14 -2 4 '
10 | 100 27 | 18 -1 2 o
9.
10.
Nl x|y 8 [ x | v x|y u
35| -7 240 | 24 1] 9 '
-30 | -6 -30 | 18 4 | 36 1
-20 | -4 20 | 12 5 | 45 '
-10 | -2 -10| 6 10 | 90
100 | x | v x|y )| x |v
511 -1 -4 -10 | 90
6 | 12 2| -3 -5 | 45
7 | 13 3| -2 -2 | 18
8|14 4| 1 1 9
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DIx ]y I x|y | x| v
1. no
7 1| 7.00 4 | 2 | 050 91 -12 | 1.33
14 | 2 | 7.00 5| 3] 0.60 -8 -11 | 1.38 no
18 | 3 | 6.00 6 | 4 | 067 -7 | -10 | 143 2
24 | 4 | 6.00 715|071 -6 | -9 | 150
3. no
4, no
5, YES
H1lx]|y | x|vY 6 [ x | v yes
6.
2 4 2.00 3 2 | 1.50 -10 | 20 | -2.00
3 9 3.00 6 4 | 150 -3 6 | -2.00
7. yes
5 25 5.00 21|14 | 1.50 -2 4 | -2.00
10 | 100 | 10.00 27 | 18 | 1.50 -1 2 | -2.00
8. YES
9. YES
10. no
7 8 9
)| x | Y )| x | ¥ )XY 1. no
-35 | -7 | 5.00 -40 | 24 | -0.60 1 9 | 9.00
-30 | -6 | 5.00 -30 | 18 | -0.60 4 | 36 | 9.00 1 yes
-20 | -4 | 5.00 -20 | 12 | -0.60 5 | 45| 9.00
-10 | -2 | 5.00 -10 | 6 | -0.60 10 | 90 | 9.00
100 | x | v x|y )| x |v
51|11 | 220 -1|-4] 025 -10 | 90 | -9.00
6 | 12 | 2.00 -2 | -3 | 067 -5 | 45 | -9.00
7|13 | 186 3| -2 150 -2 | 18 | -9.00
8|14 | 175 -4 -1 400 -1 9 | -9.00
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0




C:h Determining Proportionality with Tables

Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers

D x|y 2| x| Y | x|y

12| 6 1] 3 5 | 12 t
-10 | -5 8 | 24 6 | 13

-4 -2 9 72 7 14 2.
2 | -1 10 | 80 8 | 15

3.

4.

5.
H1x| vy S [ x| v 6 | x| v

6.
2 4 -9 | -16 -8 | 32

4 | 16 -8 | -15 -7 | 28 .,

6 36 -7 | -14 -4 | 16 '

10 | 100 -6 | -13 3|12 .

9.

10.

Nlx|y 8 x|y x|y u

-8 | 24 5| -4 6 | -4 '

-6 | 18 -6 | -3 -7 | -3 1

-4 | 12 7| -2 -8 | -2 '
2| 6 -8 | -1 9| -1
100 | x | v W x|y ) [ x | v
5] 2 100 | -10 2 | 12
6 | 3 60 | -6 4 | 24
714 40 | 4 5130
8|5 20 | -2 10 | 60

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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ﬂh Determining Proportionality with Tables Name:

Answer Key

Determineif the valuesin the table are proportional (yes) or not (no).

Dl x |y 2) | x| v A x|y
212 | -6 | 2.00 1] 3 ]300 5 | 12 | 2.40
210 | -5 | 2.00 8 | 24 | 3.00 6 | 13 | 2.17
4 | -2 200 9 [ 72| 8.00 7 | 14| 2.00
2 -1 200 10 | 80 | 8.00 8 | 15| 1.88
4 | x| v 5 | x| v 6) | x| v
2 | a4 | 200 9| -16 | 1.78 8| 32| -4.00
4 | 16 | 4.00 8| -15| 1.88 71 281 -4.00
6 | 36 | 6.00 7| 141 2.00 4|16 | -4.00
10 | 100 | 10.00 6| -13 | 2.17 3| 12| -4.00
Nlx|y 8 | x|y 9 x|y
8| 24 -3.00 5| -4 125 6| -4 | 1.50
6| 18 | -3.00 6| -3 200 713233
4| 12| -3.00 7121350 8| -2 400
2] 6 | -300 8| -1 800 9| -1 900
10) | x | v 1) | x | v 12) | x | v
5| 2| 040 100 | -10 | -10.00 2 | 12 | 6.00
6 | 3050 60 | -6 | -10.00 4 | 241 6.00
7| 4057 40 | -4 | -10.00 5 | 30 | 6.00
8| 5| 063 20 | -2 | -10.00 10 | 60 | 6.00

Answers
1. YES
2 no
3, no
4, no
5. no
6. YES
7. yes
8. no
0. no
10. no
11. YES
12. YES

75|67 [58[50( 4233|2517 |

1-10 | 92| 83
[ Math ] www.CommonCoreSheets.com 4 11-12| 8 | O
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DI x |vY 1 x |vY 3| x|vY
1| 1 16 | -8 7 | 3 t
16 4 -14 | -7 21| 9
25 | 5 12 | -6 56 | 24 2
100 | 10 -4 | -2 70 | 30
3.
4.
5.
H1x |y 9 | X | Y 6) [ x | v
6.
5| -4 2|11 72 | -8
-6 | -3 3|2 54 | -6 .
-7 | -2 4 | 3 27 | -3 '
-8 -1 5|4 9 | -1
8.
9.
10.
Nl x|y 8 [ x|vY 9 | x|vY u
30| 5 8 | 4 6| -7 '
36| 6 9 | 5 51| -6 1
56 | 7 10| 6 4| -5 '
72| 9 11 | 7 3| -4
10 | x | v x|y ) x| v
1 2 -24 1 20 70 | -10
6 | 12 -18 | 15 42 | -6
9 | 18 -12 | 10 35| -5
10 | 20 6 | 5 14 | -2
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




=

Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DI x |vY 1 x |vY 3| x|vY
1. no
1 1 1.00 -16 | -8 | 2.00 7 3 | 043
16 4 4.00 -14 | -7 | 2.00 21| 9 | 043 es
25 5 5.00 -12 | -6 | 2.00 56 | 24 | 043 2 y
100 | 10 | 10.00 -4 | -2 | 200 70 | 30 | 043
3. YES
4, no
5. no
H1x |y 9 | X | Y 6) [ x | v
6. YES
S5 -4 125 2|1 1] 050 72 | -8 | -9.00
-6 | -3 | 200 3| 2| 067 54 | -6 | -9.00 . no
-7 | -2 | 350 4 | 3| 0.75 27 | -3 | -9.00 '
-8 -1 800 5| 4] 080 9 | -1] -900
8. no
0. no
10. YES
Nlx |y 8) 9
X1Y X1Y 1 yes
30 | 5| 6.00 8 | 4| 200 -6 | -7 | 1.17
36 | 6 | 6.00 9 | 5] 180 -5 |-6| 120 1 yes
5 | 7 | 8.00 10 | 6 | 167 41 -5 125
72 | 9 | 8.00 11| 7 | 157 3| -4 133
10 | x | v x|y ) x| v
1| 2| 200 -24 | 20 | -0.83 70 | -10 | -7.00
6 | 12 | 200 -18 | 15 | -0.83 42 | -6 | -7.00
9 |18 | 200 -12 | 10 | -0.83 35| -5 | -7.00
10 | 20 | 2.00 -6 5 | -0.83 14| -2 | -7.00
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dlx |y x|y x|y
10 | 16 27 | -9 63 | -9 t
40 | 64 21 | -7 56 | -8
45 | 72 15 | -5 28 | -4 2
50 | 80 12 | -4 21 | -3
3.
4,
5.
“1x |y | x | v 6) [ x| v
6.
2 | -4 -32 | -12 -4 | -12
1|-3 24 | -9 3| -11 .
0| -2 -16 | -6 -2 | -10 '
-1 -1 -8 -3 -1 -9
8.
9.
10.
NlIx]|y 8 | x|v x|y u
32| -28 5 | 10 18| 6 '
24 | -21 7 | 14 24 | 8 1
16 | -14 9 | 36 27| 9 '
8 -7 10 | 40 30 | 10
100 | x | v x|y ) x|y
5|1 9 1 6| -4
4 2 10| 2 -7 -3
3| 3 11| 3 -8 | -2
2 4 12 | 4 91 -1
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dlix|y x|y )| x|y s
10 | 16 | 1.60 27 | 9 | -3.00 63 | 9 | -7.00 t y
40 | 64 | 1.60 21 | -7 | -3.00 5 | -8 | -7.00 yes
45 | 72 | 1.60 15| -5 | -3.00 28 | -4 | -7.00 2
50 | 80 | 1.60 12 | -4 | -3.00 21 | -3 | -7.00
3. YES
4, no
5, YES
A1 x|y S | X | Y 6) [ x| v no
6.
2 | -4 -050 -32 | -12 | 0.38 -4 | -12 | 3.00
1|-3]|-033 24| -9 | 0.38 -3 | -11 | 3.67 . yes
0 |-2] 000 -16 | -6 | 0.38 -2 | -10 | 5.00 '
-1]-1( 100 -8 -3 | 0.38 -1 -9 | 9.00
8. no
9. YES
10. no
Nlx |y 9 | x|vY x|y " no
32| -28 | -1.14 5 | 10 | 2.00 18 | 6 | 3.00 '
24 | -21 | -1.14 7 | 14 | 200 24 | 8 | 3.00 1 no
16 | -14 | -1.14 9 | 36 | 4.00 27| 9 | 3.00 '
8 -7 | -1.14 10 | 40 | 4.00 30 | 10 | 3.00
100 | x | v x|y ) x|y
51 1] -500 9 | 1] 9.00 -6 | -4 | 1.50
-4 | 2 | -2.00 10| 2 | 5.00 -7 | -3 | 233
-3 | 3| -1.00 11 | 3 | 367 -8 | -2 | 400
-2 | 4 | -0.50 12 | 4 | 3.00 9| -1 900
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix| vy x|y | x|y
8 | 56 4| 1 10 | 4 L
-5 1] -35 3| -2 11| 5
4 | -28 2| -3 12| 6 2
2| -14 1| -4 13| 7
3.
4.
5.
1 x| v S | x | Y 6) [ x | v
6.
-28 | -32 1 1 7 |3
21 | -24 16 | 4 8 | 4 .
-14 | -16 25| 5 9 |5 '
-7 -8 36| 6 10| 6 o
9.
10.
Nlx| vy 8 | x|vY 9 x|vYy "
6 | -13 6 | 7 63 | -9 '
-5 | -12 18 | 21 28 | -4 1
-4 | -11 24 | 28 21 | -3 '
-3 | -10 60 | 70 7 |-1
100 | x | v W[ x|y ) [ x|v
-36 | 40 -10 | 60 10| 1
-27 | 30 -6 | 36 50 | 5
-18 | 20 -3 | 18 72| 8
-9 | 10 2 |12 90 | 10
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix| vy x|y | x|y
1. YES
-8 | -56 | 7.00 -4 -1 025 10| 4 | 250
-5 | -35 | 7.00 3| -2 | 067 11| 5| 220 no
-4 | -28 | 7.00 -2 | -3 ] 150 12 | 6 | 200 2
-2 | -14 | 7.00 -1|-41 400 13| 7 | 1.86
3. no
4, y€Es
5. no
1 x| v S | x | Y 6) | x | v
6. no
-28 | -32 | 0.88 1] 1] 100 7 | 3043
-21 | -24 | 0.88 16 | 4 | 400 8 | 4| 050 . no
-14 | -16 | 0.88 25| 5| 500 9 | 5| 056 '
-7 -8 | 0.88 36 | 6 | 6.00 10 | 6 | 0.60
8. YES
9. YES
10. YES
7) 8) 9)
X Y X1Y X1Y 1 yes
-6 | -13 | 2.17 6 7 | 117 63 | -9 | -7.00
-5 | -12 | 240 18 | 21 | 1.17 28 | -4 | -7.00 1 no
-4 | -11 | 275 24 | 28 | 1.17 21 | -3 | -7.00 '
-3 | -10 | 3.33 60 | 70 | 1.17 7 | -1 -7.00
100 | x | v W[ x|y ) [ x|v
-36 | 40 | -1.11 -10 | 60 | -6.00 10 | 1 | 10.00
-27 1 30 | -1.11 -6 | 36 | -6.00 50 | 5 | 10.00
-18 |1 20 | -1.11 -3 | 18 | -6.00 72| 8 9.00
-9 |10 | -1.11 -2 | 12 | -6.00 90 | 10 | 9.00
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DIx ]|y x|y x|y
72| -8 9| 18 6| -9 t
36 | -4 7| -14 5| -8
27 | -3 4| -8 47 2
9 | -1 2| -4 3| -6
3.
4.
5.
H1x |y S | x | v 6) | x | v
6.
410 18 | -9 9 | 3
3| -1 14 | -7 15| 5 .
2| -2 10 | -5 36| 6 '
-1 -3 6 | -3 549
8.
9.
10.
N1x|y 8 | x|vY 9| x| v u
410 112 12 | -36 '
3| -1 4 | 8 9 | -27 1
2| -2 5 | 10 6 | -18 '
-1 -3 7 |14 3 -9
100 | x | v x|y ) [ x|y
9 3 819 51| 2
25 5 24 | 27 6 | 3
36 6 32 | 36 7| 4
100 | 10 48 | 54 8|5
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
DIx ]|y x|y x|y
1. YES
72 | -8 | -9.00 -9 | -18 | 200 -6 | -9 150
36 | -4 | -9.00 -7 | -14 | 2.00 5| -8| 160
2, YES
27 | -3 | -9.00 -4 -8 | 200 4| -7 | 175
9 | -1 -9.00 2 -4 | 200 -3 | -6 200
3. no
4, no
5, YES
H1x |y S | x | v 6) | x | v
6. no
-4 1 0 | 000 18 | -9 | -2.00 9 | 3| 3.00
3| -1 033 14 | -7 | -2.00 15| 5 | 3.00 . no
-2 -2 100 10 | -5 | -2.00 36 | 6 | 6.00 '
-1 (-3 300 6 | -3 | -200 54| 9 | 6.00
8. YES
9. YES
10. no
7) 8) 9
Xl|lY X1Y X Y 1 yes
-4 0 | 0.00 1| 2 | 200 12 | -36 | -0.33
-3 |-11 033 4 | 8 | 200 9 | -27 | -0.33 n
12. 0
-2 -2 100 5110 | 200 6 | -18 | -0.33
-1 (-3 300 7 | 14| 200 3 -9 | -0.33
100 | x | v x|y ) [ x|y
9 3 | 3.00 8 | 9 | 113 5| 2| 040
25 5 5.00 24 | 27 | 1.13 6 | 3| 050
36 6 6.00 32|36 | 113 71 4 | 057
100 | 10 | 10.00 48 | 54 | 1.13 8| 5] 063
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix]y x|y )| x |Y
11| 7 4| 5 28 | 8 t
12 | 8 5| 4 -21 | -6
13| 9 6| -3 4 | -4 2
14 | 10 7| -2 -7 | -2
3.
4.
5.
Y1 x |Y 5 | x | Y 6 [ x| v
6.
1 1 -9 | 18 18 | 2
9 3 -8 | 16 27| 3 .
64 | 8 -5 | 10 48 | 6 '
100 | 10 -4 8 80 | 10 o
9.
10.
7) Y 8 | x|v x|y u
1|4 36 | -9 20 | 45 '
0| -3 28 | -7 32| 72 1
1] -2 24 | -6 36 | 81 '
21 1 4 | -1 40 | 90
10 | x | v I [x |y ) [ x| v
1|6 -9 | -6 -4 | -6
4 | 24 8| -5 3| -7
6 | 36 -7 | -4 -2 | -8
10 | 60 -6 | -3 -1 -9
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix]y x|y )| x |Y
1. no
11| 7 | 157 4 | -5 -1.25 -28 | -8 | 0.29
12 | 8 | 1.50 51| -4/ -080 -21 | -6 | 0.29 no
13| 9 | 1.4 6 | -3 | -0.50 -14 | -4 | 0.29 2
14 | 10 | 1.40 71 -2 | -029 -7 | -2 | 029
3. YES
4, no
5, YES
Y1 x |Y 5 | x | Y 6 [ x| v
6. no
1 1 1.00 -9 | 18 | -2.00 18| 2 | 9.00
9 3 3.00 -8 | 16 | -2.00 27| 3 | 9.00 . no
64 8 8.00 -5 10 | -2.00 483 | 6 | 8.00 '
100 | 10 | 10.00 -4 8 | -2.00 80 | 10 | 8.00
8. YES
9. YES
10. YES
7 8 9
)| x| Y ) | x | v )| x| v " no
1]|-4]|-025 36 | -9 | -4.00 20 | 45 | 0.44
0 |-3]| 000 28 | -7 | -4.00 32| 72| 044 1 no
-1 |-2| 050 24 | -6 | -4.00 36 | 81 | 0.44 '
-2 -1 200 4 | -1 -4.00 40 | 90 | 0.44
10 | x | v I [x |y ) [ x| v
1| 6 | 6.00 -9 | -6 | 150 -4 | -6 | 1.50
4 | 24 | 6.00 -8 | -5 160 3| -7 233
6 | 36 | 6.00 -7 | -4 175 -2 | -8 4.00
10 | 60 | 6.00 -6 | -3 | 200 -1 (-9 900
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0
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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix|y 1 x |vY 3| x |Y
4| 2 15| 5 110 | 90 t
3| -3 -14 | -4 -7 | 63
2| -4 13 | -3 3 | 27 2
-1 -5 -12 | -2 -2 | 18
3.
4.
5.
H1x|yY 9 | x|vY 6) | x| v
6.
211 2| 7 6 | 60
3| 2 3| 8 7 | 70 .
41 3 419 8 | 80 '
514 5|10 919 o
9.
10.
Nl x|y 8 | x|v 9| x |y "
1|1 6 | 2 9| 81 '
9 3 9 | 3 -5 | 45 1
36 | 6 30| 6 -4 | 36 '
100 | 10 45| 9 1] 9
10 | x| v W x |y ) [ x| v
-9 | -81 -16 | -32 24 | 30
-6 | -4 -12 | -24 32 | 40
-5 | -45 -8 | -16 40 | 50
1| -9 -4 | -8 72 | 90
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix|y 1 x |vY 3| x |Y
1. no
-4 | -2 | 050 -15 | -5 | 3.00 -10 | 90 | -9.00
3| -3 100 -14 | -4 | 350 -7 | 63 | -9.00 no
-2 | -4 200 -13 | -3 | 433 -3 | 27 | -9.00 2
-1 (-5 500 -12 | -2 | 6.00 -2 | 18 | -9.00
3. YES
4, no
5. no
H1x|yY 9 | x|vY 6) [ x | v yes
6.
2|1 1] 050 2 7 | 3.50 6 | 60 [ 10.00
3| 2| 067 3| 8 | 267 7 | 70 | 10.00 . no
4 | 3| 0.75 4 | 9 | 225 8 | 80 | 10.00 '
51| 4] 080 5 |10 | 2.00 9 | 90 | 10.00
8. no
9. YES
10. YES
7) 8) 9)
X Y X1Y Xl|lY 1 yes
1 1 1.00 6 | 2| 3.00 -9 |1 81| -9.00
9 3 3.00 9 | 3| 3.00 -5 45 | -9.00 1 yes
36 6 6.00 30 | 6 | 5.00 -4 1 36 | -9.00
100 | 10 | 10.00 45| 9 | 5.00 -1 9 | -9.00
10 | x| v W x |y ) [ x| v
-9 | -81 | 9.00 -16 | -32 | 2.00 24 | 30 | 0.80
-6 | -54 | 9.00 -12 | -24 | 2.00 32 | 40 | 0.80
-5 | -45 | 9.00 -8 | -16 | 2.00 40 | 50 | 0.80
-1 -9 | 9.00 -4 -8 | 2.00 72 | 90 | 0.80
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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